ANSwER LeY
EXTRA PRACTICE: Calculating Molar Mass

Name:

~“alculate the molar mass of the following compounds. Be sure to include correct units.

L

10.

KI K=1lx32q.10=39.l10
T:\x%26.96 = 126.90

166 3[»\0\

M93(PO4)2

Mq=3x 24,31 7R.1%
P=ax3%6.97= 619y
O =8xlb.oo = 128

NiO

Ni=lx 58.69> 58.69
O={gl6.00:=16.00

—>|74.69 o/mel

[V ¢

H,O

H>2 xl.008 = 2.016 =
oslxlbop = l6.00 P {18.016 9/me

BCIFZ

Boazl w 137. 38 = 1372.38 ,
F=2x (9.00 19.00 ’91.'54-38 8/me

NH4;NO3
Nz 2xM.0\ = 28.02 _ "
B2l ylood = 4,022 —>[B0.6SL 3/u‘.lj
0= 3 xlb.00 2 YR, 00

CuS
Cuz\x% £3.5%5: 638
S:|x322.0¢ =32.06 -+

5.1 glmel |

ZnHCO;
Znz | x 65,395 €£.39
W ixtooss 008 5130408 gfmel]

C = (xV2.0f = 12.0)
O 2 x 1600 = UB .00

LisN
Li= 3x €941 = 20.823 ur
Ne x4, 01 = (4,01 ~P134.933 9 W\‘b‘}

PdsSO,

Pd:lx 166.y2=tog.ya

Sz1xz2a.0¢- Ta
®232.66: 32.06 ——Dl;lca.‘—lsalmol
O Yx lb.oo = £Y.00 :
PR

Zn CCQU‘SO;)A—D C=Uxia.6)z4g.04

11. nickel (IITI) nitride
N:=]x58.69=5%8.49
N=* | wiy.ol =tM.o0l

NiN > —72.7 0 /msl

12.  potassium phosphate
K= 3x39.00:]17.73
l(.s}’o".-p Pz I x3%0.97: 30.9 —p@ﬁ.ﬁ-'lj'»\ol
O:sUxlé.0o =éY.00

13. iron (IT) oxide
Fe = S¢.85 7 55.8¢

b —5[71.85 g/l |
0= Ixlb.0ot lb.co ,,
14, sodium hydroxide

No = | x 22.9¢9 > 2299
NQOH —i> o= | % tb.coo = {6006 "D(E‘qua J/MG'

Hz |« l.con = 008
15. aluminum fluoride

Al= | x 26.98 » 2698
MF; ke 3 x 19.06 = S7.00

FeO »»

—P Sg.q 8 _9/Mo|

16. gallium carbonate
Ga = 2x €9.72+ 139.4yy
ancco;)s P = 3xlinol= 3603
O =9q9xle.0c0 = I4Y
17. copper (IT)sulfate

Cou=lxb3.58 :€3.5¢ >
S =% 32.6¢ #32.0¢ '—D(Isq_él 3/Mo(J
O = Uy léoo » EM.0b

18. zinc acetate

Z2n & 1 n¢s5.3a9- €5.29

—(319.47 a1 |

C\)SO“ -t

H*6xlooBzC.0M¢ I ‘l%?,‘-{?ﬁj/,‘,,

Oz Yylboe = EY,00
19. sodium idodide

Ne®(y 22.99 s 2.2.99
Mok <t I-=Ix12t.%=126.90 —b&{q.gq 3"“2}

20. barium sulfate

Bq SOL' - BQ: I b4 137,38 - 137.38

S=1x33.0c *32.6¢ —p| 233.4Y Jne

O =2Yxit.oo = 6Y.00




